MsitE igojg 6124 0O

Trend's

S 5Lt

v 0] OFLl 2 Q= A40| ZZWm QL. I BiLIO] SA
\ A0S Xf2| T2 QL|950| 018 %0|9} 0|8Xt S4S 7
— ADHSLE HB|0|E|S Sofl Xb5] AT

Qat BEHZS AH|SH WAIO] OTT Z2B0| Of3 0| LBAHS M Yote YAIS H CHYSHAIL UCH S0, A2 S 9
A2 o 2710 B42S o ‘S M0l 2CI220| A17|S U1 Ui 20/Th 20191 1HEE 20214 19712 F2 2C/2E

.
ZHE 30| 4 ABFIER A5 HO|EIS Dol Hi} QC|QE0| 0|82 TE5| SYUCH 212 2W SO0 QCIRE 0|8 AL
109% Z7lete =2 4RSS |28 L 2.9ma10l Mo 0|20] ZAF Zife Ciy|gl=
20|} 0= HS 20jE 4 Y Y 0 Z2H HISIEIT QS-S HOIELH 1O C|QL0| Cist
CHH| 224 105% Z7I31CH S5] &, M3, EARH S 22 D A}

2 05 1012} 87 AFHCE 01Z S5 LEIEHAYO| 53
30| 2|92 Metsts 225 201 £ 5LER 248511 S S U 4 ULk OB Ozt 2|28 BaZol= B2, RAM, 27} S
HL20| EHYB T S42IE £7] 22 UH0| Y8 S oI RHIZ7L Y2 BOIG|, 0= UEAS &0 T4 0L 20| Y

=2 " = I} =
M Blud g 2= o+ AES =0 AL YoM ot &5 S 22 4 U= 22 0| Eot 2E[2F29] 2 0fH0|L.

70000 &4

=)

o 23004

20191 2021.1

1199 18~ 2119 19 50 OC|QE ZUE 329 MYIHE 0|8 7|

LRSS 08X &E HIS ¥l

2001 | 30tH | 40CH 50CH 60LH

2019 11% 2%

+6%p

2020 11% 3%

* 2L A1 1~128 MUBIE 0|8 J|E

= - L

J|El Md|A O]2 HIE Hiw

OTT AMH|A AOIERU AfH]A

31%

11%

9%
4%

* 20 7~128 AMTIE 0|18 J|&

SNSE S0/31} LU|L5E0] HEO| Hlw

A HY2
o [
52, o & 42, o THZ=
S0|*H QLS
] e o J|2 LIE o ® ALXH
[ L ® J
=4 AL Ol =&

*08 1~128 7|1&

HEJ, HeldS SAoh= 2030MICHS A=ETH

C=- - - o

o
F3Ie MCi7t Ol 7| 20 S5 ZEI2E O MEA LIl 2OR IotEict 02{3t 43S Y4, 2 S2 A8 4 81D
SHBIOR LfSIS Lites SNS ‘2HBHRA| QI7|OIME 2Ok 4 QUCt Edt 2C|92 BHE0| (LR R 37| 1S YAIS 35T

o =
20 o
AH| 43S 2T AST? 20204 7HLE 122712 T2 MHOIM MEITIER A s 24E R
S 137 ofe YUk 12 o] BUEH 2 2m20l NS W 2O LERYTt S5 53 0|4
11

S — = —
MES 0|8t HIS2 L 1M 7%, LU 25 0|8 UM 14% = 7%plt =UCH A4 0|8 a4 ot Yok 174 201000 £+ 3000
H 0] A2 20t 40004 S 7|=3UCt 2L 2= 0|8 1240| HUH2Z MHS A YESHH, 240f| Cist 2410 =2 AH[ZIRS &

OI|:|-

A .

2r|e% 0|8 N2 M 0j9jo] Zel2o|E BHAI0| BiTH 22 7|7t UBAA 3 S F2 OTT Y S AE2|Y MB|A 0|8 HEtS

20 2r|282 As h MBIAS BRECE OTTO| 29 Yt D24 9%, 20| 0|8 12 3

2 22%p, S AE2|YS UL DM 6%, 20| 0|8 DA 0%p £2 BIZS ATt 20|22 0|8 D242 K%
H

=]
Y
b5t SEfo] 2EIZE 2 27|71 Qle ZHO|TH & 0|S2 UAS B2 BHS0jRE MHIAE BH7ICH
AN

2t otLet 58, 83 S Chet o = TF S U= A0 = 2= He

HEFHEA(HMR) O|80|= A=40|H, =, AL 5= ZHIY= 0[2] T2 7| Al BooliF= ADERY MB[A9| 0|
HIEE =2 HOIC 2URSF2 =2 =20 SA0| &E g5= g 4+ V|0 2842 AlZh 282 Helee| 73S S2Alsk=
2B|A}7F F2 0|&¢thts 240| 7tsottt. 2= 2020t £5 0|F= AlU0f] 2= ZH2 2 MOUE A0S dASts ELS. 0] 22
22 =0 tiet Y2 YESE SSoHALE A S nJote A0 2 ks 7|12 A2 0| oottt M $e29| g0
ClS 7[tiEl= AI™OICt ofF S 1ot W 0| Al FAS daotil RURE M3 SHEH G717 SHe Hits EOE U= =2



